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HRX 38,358 86,956 41,498 45458
RIRET1T 5 15 7 8
RIRET2T 27 58 28 30
AIEET3T 175 577 282 295
RIRET4T 388 972 478 494
B 595 1,622 795 827
REH 2,672 6,215 2,914 3,301
L&A 4,225 9,584 4,533 5,051
5E 2,562 6,050 2,940 3,110
5 WA 1,256 2,867 1,332 1,535
BERT 1,218 1,887 888 999
BER2T 667 1,302 627 675
BHERST 391 894 439 455
g 2,276 4,083 1,954 2,129
BARE 255 657 332 325
= 2,186 5,242 2,469 2,773
hERE 628 1,472 675 797
e 2,383 5,200 2,507 2,693
25 L ET 2,234 5119 2,454 2,665
B &AL BT 80 167 67 100
HEFILET1T 573 1,238 582 656
HEFILET2T 619 1,376 649 727
HEZFILAT3T 602 1,418 697 721
g 1,874 4,199 1,995 2,204
B & it B Fr ET 687 1,668 803 865
BHEREBET1T 614 1,253 598 655
BHERERET2T 759 1,764 858 906
BHERERETST 765 1,661 753 908
HERERET4T 454 989 483 506
HEHFMHETST 812 1,671 792 879
HEHFHET6T 871 2,005 962 1,043
HEFRET7T 835 1,880 904 976
HERERETST 71 215 100 115
£t| 5181 11438 5,450 5,988
HEF R FET 1,833 3,975 1,939 2,036
S|EFET1T 568 1,519 758 761
S|EFET2T 769 1,843 872 971
S|EFET3 T 710 1,420 665 755
g 2,047 4,782 2,295 2,487
ERE1T 559 1,338 640 698
EIRET2T 388 1,022 509 513
EREIST 468 1,311 637 674
EIRETAT 693 1,540 706 834
EIZEIST 475 991 502 489
g 2,583 6,202 2,994 3,208
MEH 2,764 6,350 3,009 3,341
J\THET1T 35 39 16 23
J\THET2T 25 64 31 33
J\THEI3T 57 128 61 67
B 117 231 108 123
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